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homework help
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x2+2.5x—1.5=0.“I think I need to use the Quadratic Formula
because of the decimals,” she told Walter. Walter replied, “ I'm sure
there's another way! Can't we rewrite this equation so there aren't
any decimals?”

What is Walter talking about? Rewrite the equation so that it has no
decimals. You don't need to solve it !
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2.

Re-write the following three equations (or system), but do not solve
them.

a. 100x% + 100x = 2%9

oo S oo

- = 20
X+ X )
PR 20
N+ X070 O="X
0= G- !
- b=l
C;N C:ZO

b. 15x+10y=-20 —~ %x%wgiif
Tx=2y=24 > { 5OX ~loy = 120
7\—’—//_/%

b. 15x+10y==20 -~ Hx 11y ~ "
Ti-2p=24 s Nty o




October 24, 2018

easier to solve? What expression inight you temporarily replace with U? a
You do not need to actually solve the equation(s). U = m + 6 mrjdr

a. (m?+5m—24)2 - (m?+5m-24)=6
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(4x2+4x_3)2=(x2_5x_6)2
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The strategy used in the warm
up can be described as:

Solving by re-writing
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Example 1
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Example 2 - Rewrite to a familiar form . C\Q
C\
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